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guestion in this part carries S marks,

Qﬂ) If sum of two roots of the equation.
' 4x% -~ 24x 4+ 31x* + 6x -8B =0 is6,

then 1ind all 18 roots

Q.2) Using matrices. solve the tollowing system ol lincar equations:
Xty-22 = -4
Ixdy+z =9
dxtly+iz= ¥

p +1q r+i4i

—r+is p-ig| P9rsuciny v integers

be a ring w.r.t matrix addition and matnx multiplication. Prove or disprove the following.

“a) R isanon-commulative ring
b)) R isaring with unity
) R has no zero divisors

d the radius of curvature of the cycloid N T

* x = qa(f + sin8)



C (if it exists) of the Lagrange’s Mean Value Theorem when the function @ 1s given by

x) = x(x -1)(x-2), x€ [0%

+y3+zxyv=x2+y2+zaandw=x + y + z, then show that

xy

w. (grad v x grad « ) is independent of x,y,z.

10) Solve the differential equation:
sm e X x ik : 1 when x=0
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‘ _ . face a b
The seeming acceptance of active forms of euthanasia is alarming, but We ursin
itals and nursiv

insidious threat from passive forms of euthanasia. Every year, in hosp sed by
around the country, there are growing numbers of documented deaths cau ﬁts R
§  withholding life-sustaining care, including food and water, from vulne

rable patie
speak for themselves. e

life is not worth living. The basi:: ﬁ}ght to

someone else’s quality of life ‘5 too o
there is no logical place 10 w the 1 o

positive attitudes towards people s

the ravages of their diseases, they are:

e No one has the right to judge that another's
N not be abndged because someone decides that
ity of life standards.
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tho would cause their acains by WIRTHIUIGIIE 1110 OWOIEIITIIE YRS UL S s R e

- Give ible reasons why someone might disagree with the views expressed by the author.

9 ' hibernate in winter and W
in St Petersburg zZ00 has not gone to sleep at all, and.a
ieving its Spring. It's the same story in Estonia, the

it one of the warmest wWiniers ever recorded
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woken bears several months early.
peraturcs have become commonplace

rs of Arctic, where unusual extreme of tem
h make it difficult to hunt seals - a phenomenon

The polar bea
to live with reductions in sea ice, whic
could lead to their extinction. According 10 climatologists in Scandinavia
well above average temperatures are being Tt?CDI'dEL;

balmy winds blow in from the

have
that, experts say.
Russia. Estonia and lceland. record or
a and northern burope as

across a great swathe of Scandinavi

west.

/
lead to the extinction of heat !

Questions
as been so mild”™”

(A) Which phenomenon coul
(B) What does the author mean when h
(C) Itis the same story 1n Estonia. What story is t

d. according to experts
e says “the weather h

he author talking about’

SR

Restrict your answers 10 about 30 words.




Q.16) Let us remind ourselves that this “unequal activity “depends entirely on circumstan
and different traits come to the fore in different individuals. Men, when born. come Wlt]:: ¢S,
habits and behaviour pattern. It is all the “going-on™ around him that influence him and ?10

becomes a product of his circumstances. e

That makes one feel sure that we are all victims of our habits and circumstances. While
circumstances lead us to our developing particular habits and a behavioural pattern, habits from

an important factor in changing circumstance.

" No wonder, Shakespeare too had this on his mind when he said that circumstances could change
one into anything — one could become courteous or quarrelsome, a liar or truthful, as an ass ora

nightingale — all depending on one’s circumstances.

Do you think Gandhi would have become Gandhi we know today but for the British rule? And
SImllarly, but for the circumstances you were in, you would have been quite another person.

:dl-fferem from what you are today. |

(A) What is the author 1mply1 ‘whenl he says that, “Gandhi would not have ()
| e knoy -~ _' fm. Bl‘ltlSh mleﬁ? | |




Resirict your answcr 1o about oU WOluds.

Q.17) Tsunami is a series of large waves of extremely long wavelength and period usually
generated by a violent, impulsive undersea disturbance or activity near the coast or in the ocean
When a sudden displacement of a large volume of water occurs, or if the sea floor is suddenly
raised or dropped by an earthquake, big tsunami waves can be formed by forces of gravity.

m

0

By far, the most destructive tsunamis are generated from lar e, shallow earthquakes with an

G egn ntre or fault line near or on the ocean floor. These usually occur in regions of the earth
e characterise by tectonic subduction along tectonic plate boundaries. Although relatively
mfrequent violent volcanic eruptions represent also impulsive disturbances, which can displace
& a great volume of water and generate extremely destructive tsunami waves in the immediate
lm:e area. Less frequently, tsunami waves can be generated from displacements of water
resulting from rock falls, icefalls and sudden submarine landslides or slumps. Major earthquakes

«.‘vm‘e suspected to cause many under-water landslides, which may contribute significantly to
- unami generation. The fall of meteorites or astermds in the earth’s oceans has the potential of

i Rl | / B "" l m I

SRR~ B H h mamls Of Catac y 10,8

I : ) I ;' || g e 9 g ll-n L i
- 1"J:L.'I'¢-=EJ » T - b . o I'-' '-I i 3L "r" I
. - - | -‘-" =y, 1 T I - U =i 3 - ""."- '- = 'l:
] ' [ : § ".| ':_ ! I :u';‘ ! L - JII- |. -.'I 7 |.- ‘._ __:_- ot . i - 1

ks ::“;"i'fi' ' '-"""" afgen
R S Tut o T .
¥ 1"_"..‘_]' ‘.._ -!
o P o e 4‘
= ‘."‘1 1 i . =" iy

- i
a it by o R LG i
.............
......



! (A) Whic 1 1s beetr 1 ~
(B: b h testing has been prohibited by the international treaty”’
. ) HoOw are most destructive tsunami waves formed?
estrict your answers to about 30 words. .-
| B Mﬁ
S ' o PART-C ™

S ' COMPUTER SCIENCE

o write an algorithm to find the



